CVS BEST DEALS 10/27 - 11/2 Savvy Coupon Shopper

SOFTSOAP HAND SOAP 8-11.75 OZ OR IRISH SPRING 3-PACK BAR SOAP \$2.49 BUY 2 GET \$2 EXTRABUCK

Buy (2) for a total of \$4.98 Pay \$4.98 & get a \$2 ExtraBuck Final cost is \$2.98 for both or \$1.49 each

NIVEA BODY LOTION 8.4 OZ OR EUCERIN 5 OZ LOTION OR HAND CREAM 2.7 OZ \$4.99 BUY 1 GET \$3 EXTRABUCK

Buy (1) Eucerin 5 oz Lotion \$4.99 Use the \$3/1 Eucerin Lotion digital coupon Pay \$1.99 & earn a \$3 ExtraBuck Final cost is FREE \$ \$1 MoneyMaker!

COVERGIRL COSMETICS BUY 2 GET \$5 EXTRABUCK

Buy (2) CoverGirl Eye Products \$5.79 each
Total comes to \$11.58
Use the \$4 CoverGirl Instant Coupon
Use the \$2 CoverGirl Eye Product digital coupon
Pay \$5.58 & earn a \$5 ExtraBuck
Final cost is 58¢ for both or 29¢ each.

KISS IMPRESS COLOR OR HALLOWEEN ARTIFICIAL NAILS \$5.99 SPEND \$12 GET \$4 EXTRABUCK

(Store MUST follow 98% rule for this breakdown) Buy (2) select Kiss Nails \$5.99 each Pay \$11.98 & earn a \$4 ExtraBuck Final cost is \$7.98 for both or \$3.99 each

DOVE BODY WASH PUMP 30-30.6 OZ/PREMIUM BODY WASH 18.5 OZ \$9.99 BUY 1 GET \$2 EXTRABUCK

Buy (2) Dove Premium Body Wash \$9.99 each Total comes to \$19.98
Use the \$7/2 Dove digital coupon
Pay \$12.98 & get a \$2 ExtraBuck
Final cost is \$10.98 for both or \$5.49 each

SCOPE 1 LITER, SQUEEZ 50ML, CREST PRO-HEALTH MULTI PROTECTION 1 LITER, ADVANCED 500ML, BURT'S BEES TOOTHPASTE 4.7 OZ \$4.99 BUY 2 GET \$4 EXTRABUCK

Buy (2) Scope 1 Liter \$4.99

Total comes to \$9.98 Use the \$3/2 Scope digital coupon Pay \$6.98 & get a \$4 ExtraBuck Final cost is \$2.98 for both or \$1.49 each

****BIG UPDATE...... DEAL IS ONLY ISSUING A \$2 EXTRABUCK****

ANY WET N WILD COSMETICS SPEND \$12 GET \$6 EXTRABUCK

(Store MUST follow 98% rule for this breakdown) Buy (2) WNW Gift Sets \$5.99 each Pay \$11.98 & get a \$2 ExtraBuck Final cost is \$9.98 for both or \$4.99 each

ANY BURT'S BEES FACIAL CARE BUY 2 GET \$5 EXTRABUCK

If Included: Buy (2) Burt's Bees Facial Masks \$3.19 each Total comes to \$6.38
Pay \$6.38 & get a \$5 ExtraBuck
Final cost is \$1.38 for both or 69¢ each

ANY NAIR PRODUCTS BUY 1 GET \$5 EXTRABUCK

Buy (1) Nair Hair Remover w/ Green Tea \$6.79 Pay \$6.79 & earn a \$5 ExtraBuck Final cost is \$1.79

DEGREE DEODORANT/SPRAYS BUY 1 GET 1 50% OFF BUY 2 GET \$5 EXTRABUCK

Buy (2) Degree Spray Deodorants (\$7.29, \$3.64) Total comes to \$10.93
Use the \$4/2 Degree Spray digital coupon
Pay \$6.93 & get a \$5 ExtraBuck
Final cost is \$1.93 for both or 97¢ each

\$10 OFF \$70 PURCHASE SCENARIO BUY THE FOLLOWING:

- (1) Eucerin 5 oz Lotion \$4.99
- (2) CoverGirl Eye products \$5.79 each
- (2) Scope 1 Liter \$4.99 each
- (2) Dove Premium Body Wash \$9.99 each
- (2) Burt's Bees Facial Masks \$3.19 each
- (2) Degree Spray Deodorants (\$7.29, \$3.64)
- (1) Nair Hair Remover \$6.79

Total comes to \$70.63

USE THE FOLLOWING:

\$10 off \$70 Purchase Scenario digital coupon

\$3/1 Eucerin digital coupon

\$4 CoverGirl Instant Coupon

\$2 CoverGirl digital coupon

\$3/2 Crest/Scope digital coupon

\$7/2 Dove digital coupon

\$1.50 Burt's Bees digital coupon

\$4/2 Degree digital coupon

Deducts: -\$34.50

Pay \$36.13 & earn the following:

\$3 ExtraBuck for Eucerin

\$5 ExtraBuck for CoverGirl

\$4 ExtraBuck for Scope/Crest

\$2 ExtraBuck for Dove Body Wash

\$5 ExtraBuck for Burt's Bees

\$5 ExtraBuck for Degree

\$5 ExtraBuck for Nair

Final cost is \$7.13 for all 12 items 59¢ each!

CVS UNADVERTISED DEALS 10/27 - 11/2

SELECT MALIBU C HAIR PRODUCTS BUY 2 GET \$5 EXTRA BUCK

Buy (2) Malibu C Miracle Hair Reconstructor Packets \$3.49 each Pay \$6.98 & get a \$5 ExtraBuck Final cost is \$1.98 for both or 99¢ each

TREE HUT BODY BUTTER/LOTION/MIST/BATH & SHOWER PRODUCTS BUY 2 GET \$5 EXTRABUCK

Buy (2) Tree Hut Body Scrubs \$10.79 each Pay \$21.58 & earn a \$5 ExtraBuck Final cost is \$16.58 for both or \$8.29 each

LOREAL CLEANSERS OR EYE DEFENSE PRODUCTS BUY 1 GET \$2 EXTRABUCK

Buy (1) Loreal Revitalift Cleanser 5 oz \$8.59 Use the \$5 Loreal Facial digital coupon Pay \$3.59 & get a \$2 ExtraBuck Final cost is \$1.59

BRISK BEARD PRODUCTS BUY 1 GET \$3 EXTRABUCK

PHYSICIANS FORMULA SPEND \$12 GET \$6 EXTRABUCK

Buy (1) PF Pink Sands Blush \$12.99 Pay \$12.99 & get a \$6 ExtraBuck Final cost is \$6.99

SELECT PLAYTEX, STAYFREE, CAREFREE, OB SPEND \$20 GET \$10 EXTRABUCK

SELECT BABY DOVE PRODUCTS BUY 1 GET 1 50% OFF BUY 2 GET \$5 EXTRABUCK

Buy (2) Dove Baby Lotion 13 oz (\$9.49, \$4,74) Pay \$14.23 & get a \$5 ExtraBuck Final cost is \$9.23 for both or \$4.61 each

HUGGIES DIAPERS 2/\$22 SPEND \$20 GET \$5 EXTRABUCK

CLEAN & CLEAR PRODUCTS
SPEND \$10 GET \$5 EXTRABUCK

RAEL FACIAL PRODUCTS
BUY 1 GET \$2 EXTRABUCK

CARMEX COLD PRODUCTS BUY 2 GET \$3 EXTRABUCK

Buy (2) Carmex Weather Guard Lip Balm \$2.99 Pay \$5.98 & get a \$3 ExtraBuck Redeem to Ibotta for (2) \$1 Carmex Weather Guard rebates Final cost after ecb & Ibotta is FREE!!!!